

A STUDY OF SOLVING RECURRENT SEQUENCES

Ismatullayeva G*; Qakhkhorova M**; Eshbekov R.Kh***

*3rd Year Student of the Faculty of Mathematics,
Samarkand State University named after Sharof Rashidov,
UZBEKISTAN

Email id: GulruhIsmatullayeva0@gmail.com

**2nd Year Student of the Faculty of Mathematics,
Samarkand State University named after Sharof Rashidov,
UZBEKISTAN

***Supervisor: Assistant of the Faculty of Mathematics,
Samarkand State University named after Sharof Rashidov,
UZBEKISTAN

DOI: **10.5958/2249-877X.2022.00016.9**

ABSTRACT

In the process of solving many mathematical and mathematical Olympiad problems, the sample solution is expressed using a recurrent formula. Solving this recurring formula is not always easy. This thesis presents several methods and solutions for solving recurrent sequences of this type.

KEYWORDS: *Recurrent Sequence, Initial Condition, General Term, Coefficients.*

INTRODUCTION

In the Mathematical Olympiad, as well as in mathematical analysis, in many problems of algebra, the solution is found in the form of a recurrent sequence, and it is always relevant and important to solve this sequence and find its general term on the basis of initial conditions. On this basis, the following are methods and solutions for finding the general term of several recurrent sequences.

Problem 1. Find the formula of the general term for the recurrent sequence $u(n + 1) = u(n) - u(n - 1)$ given by the initial conditional $u(1) = a, u(2) = b, n > 1$.

Solution:

To solve this recurrent sequence, we assign a value to n , starting from the initial value:

$$\text{if } n = 2 \text{ then } u(3) = u(2) - u(1) = b - a;$$

$$\text{if } n = 3 \text{ then } u(4) = u(3) - u(2) = -a;$$

$$\text{if } n = 4 \text{ then } u(5) = u(4) - u(3) = -b;$$

$$\text{if } n = 5 \text{ then } u(6) = u(5) - u(4) = -(b - a);$$

$$\text{if } n = 6 \text{ then } u(7) = u(6) - u(5) = a;$$

$$\text{if } n = 7 \text{ then } u(8) = u(7) - u(6) = b;$$

$$\text{if } n = 8 \text{ then } u(9) = u(8) - u(7) = b - a;$$

It can be seen that the terms of the recurrent sequence are repeated every 7 values. In this case, the general term of a given recurrent sequence can be written as follows:

$$u(n) = \begin{cases} (-1)^{k+1}(b - a), & \text{if } n = 3k \\ (-1)^k a, & \text{if } n = 3k + 1. \\ (-1)^k b, & \text{if } n = 3k + 2 \end{cases}$$

Problem 2. Find the formula of the general term for the recurrent sequence $u(n + 1) = \frac{u(n)}{u(n-1)}$ given by the initial conditional $u(1) = a, u(2) = b, n > 1$.

Solution:

As above, we give a sequence of values to the sequence:

$$\text{if } n = 2 \text{ then } u(3) = \frac{u(2)}{u(1)} = \frac{b}{a};$$

$$\text{if } n = 3 \text{ then } u(4) = \frac{u(3)}{u(2)} = \frac{1}{a};$$

$$\text{if } n = 4 \text{ then } u(5) = \frac{u(4)}{u(3)} = \frac{1}{b};$$

$$\text{if } n = 5 \text{ then } u(6) = \frac{u(5)}{u(4)} = \frac{a}{b};$$

$$\text{if } n = 6 \text{ then } u(7) = \frac{u(6)}{u(5)} = a;$$

$$\text{if } n = 7 \text{ then } u(8) = \frac{u(7)}{u(6)} = b;$$

$$\text{if } n = 8 \text{ then } u(9) = \frac{u(8)}{u(7)} = \frac{b}{a};$$

It can be seen that the terms of the recurrent sequence are repeated every 7 values. In this case, the general term of a given recurrent sequence can be written as follows:

$$u(n) = \begin{cases} \left(\frac{a}{b}\right)^{(-1)^k}, & \text{if } n = 3k \\ a^{(-1)^k}, & \text{if } n = 3k + 1. \\ b^{(-1)^k}, & \text{if } n = 3k + 2 \end{cases}$$

Problem 3. Find the formula of the general term for the recurrent sequence $u(n)^2 = C \cdot u(n - 1), n \geq 1$ given by the initial conditional $u(0) = a$.

Solution:

We determine the regularity by assigning a value to the recurrent sequence:

$$\text{if } n = 1 \text{ then } u(1)^2 = C \cdot u(0) = C \cdot a \Rightarrow u(1) = (Ca)^{\frac{1}{2}};$$

$$\text{if } n = 2 \text{ then } u(2)^2 = C \cdot u(1) = C \cdot (Ca)^{\frac{1}{2}} \Rightarrow u(2) = (C^3 a)^{\frac{1}{4}};$$

$$\text{if } n = 3 \text{ then } u(3)^2 = C \cdot u(2) = C \cdot (C^3 a)^{\frac{1}{4}} \Rightarrow u(3) = (C^7 a)^{\frac{1}{8}};$$

$$\text{if } n = 4 \text{ then } u(4)^2 = C \cdot u(3) = C \cdot (C^7 a)^{\frac{1}{8}} \Rightarrow u(4) = (C^{15} a)^{\frac{1}{16}};$$

Therefore, the general term of a given recurrent sequence can be written as follows:

$$u(n) = (C^{2^n - 1} a)^{\frac{1}{2^n}}.$$

Problem 4. Find the formula of the general term for the recurrent sequence $u(n) = \frac{An+B}{Cn+D} u(n-1), n \geq 1$ given by the initial conditional $u(0) = a$.

Solution:

We determine the regularity by assigning a value to the recurrent sequence:

$$\text{if } n = 1 \text{ then } u(1) = \frac{A+B}{C+D} \cdot u(0) = \frac{A+B}{C+D} \cdot a;$$

$$\text{if } n = 2 \text{ then } u(2) = \frac{2A+B}{2C+D} \cdot u(1) = \frac{(A+B)(2A+B)}{(C+D)(2C+D)} \cdot a;$$

$$\text{if } n = 3 \text{ then } u(3) = \frac{3A+B}{3C+D} \cdot u(2) = \frac{(A+B)(2A+B)(3A+B)}{(C+D)(2C+D)(3C+D)} \cdot a;$$

$$\text{if } n = 4 \text{ then } u(4) = \frac{4A+B}{4C+D} \cdot u(3) = \frac{(A+B)(2A+B)(3A+B)(4A+B)}{(C+D)(2C+D)(3C+D)(4C+D)} \cdot a;$$

Therefore, the general term of a given recurrent sequence can be written as follows:

$$u(n) = \frac{(A+B)(2A+B) \dots (nA+B)}{(C+D)(2C+D) \dots (nC+D)} \cdot a = \prod_{k=1}^n \frac{kA+B}{kC+D} \cdot a.$$

REFERENCES:

1. A. I. Markushevich. return sequences. — Mrs. Publishing House of Technical-Theoretical Literature, 1950. - Vol. 1. - (Popular lectures on mathematics).
2. M. M. Glukhov, V. P. Elizarov, A. A. Nechaev. Chapter XXV. Linear recurrent sequences // Algebra. - Textbook. In 2 volumes. - M.: Helios ARV, 2003. - T. 2. - ISBN 8-85438-072-2.
3. A. Egorov. Pisot numbers // Kvant. - 2005. - No. 5. - S. 8-13.
4. Chebrakov Yu. V. Chapter 2.7. Recursive Equations // Theory of Magic Matrices. Release of TMM-1. - SPb., 2010